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1. 	(15%) Solve the initial value problem as follows. 

dy 

dx =Y - y2; yeO) = 0.25 


2. (20%) Find the solution 	for the second order ODE: 

y" + 2y' + 2y == 0; yeO) == 0 1 y/(O) == 15 

3. 	 (20%) Find the eigenvalues and the corresponding eigenvectors. 

42 
·25[ 
-2 0 


4. 	 (20%) Find the Fourier series of the function with the definition as 

if -1T < x < 0 
jex) = { x 


follows: 1T - x if O<X<1T 


5. 	 (10%) Find the inverse Laplace transform with the following function 

3s 

s2-2s+2 

6. 	 (15%) Let u(x, t) = e- 9t siJ1UJX: (a) verify the u(x,t) is the solution of 

iJu 2 iJ2 u, (b)- - c - . find the 	suitable c .at 	 - iJx2 ' 
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